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We are concerned perhaps he transferred it through another party

OVERVIEW

The Xn» 12 states if the master says, ‘I emancipated my slave’, and the slave said,
‘he did not’ [the rule (seemingly) is (according to m»oIN) that the slave is
emancipa‘[ed,l for], we are concerned that the master was 7127 the MY VW to the
73y, through another party.” The issue Moo discusses is if it is only a concern that
perhaps he was nX *"v 71217, how can we consider the slave a 7117 12 °X7 and allow
him to marry a "7 n2.
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This word 339291 is to be understood to mean that we are certain that the master

freed the salve nk "y, just like the phrase 12n> 992 "»2 R»W@ 1921 mentioned
previously in our noon, where there too it means we are certain that 1an3 1°2° "n2.

SUMMARY
In the case of the Xn>72 the 72y is 779Mwn X7, The term 71w can (occasionally)
mean XT3 13°W°m.

THINKING IT OVER
Why does n1901n assume that when the X072 here states 3171 it means that the
72y is 7MW °x7,” maybe it means only 1mwn poo?°

" See “Thinking it over’.

% The slave is freed since it is a M1 for an 72v to be freed, and 1192 X9w 078> 1°31 (without his knowledge).

? See ‘Overview’.

* 5xmw there ruled that if a man said to his wife here is your b3 and gave her a blank piece of paper, she is divorced,
because we are concerned that he wrote the v with 1" " (water prepared in such a manner that after you write
with it, the document appears blank). noown (presumably) assumes that she is nw X7 for 2w said nwan
(even though YR states 1w>n), similarly here too (even though the Xn>»93 states 1°w™n) it means X7 just as by
OXmw. The X"wann asks that the X there concludes that she is not *X71 nw1an unless the document is treated and
the words of the v appear (and even then, she is only nwan Po0) so how does NN prove anything from there?!
[It is perhaps possible to explain Mmoo, for the X3 there challenges YRmw from a Xn»12. If however all that PXvaw
meant was that she is nwan oo, then there would be no challenge. This proves that the Jwpn assumed that W
meant NI °KT, even though X mw used the term 112w n. See (also) n"nxR # 118-9.]

> See footnote # 1.

® See R KW,
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